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NEW QUESTION 1
Which one of the following lists the main components within the TOGAF Architecture Repository?

A. Organizational Metamodel, Architecture Capability, Architecture Landscape, Best Practices, Reference Library, Compliance Strategy
B. Architecture Metamodel, Organizational Capability Model, Application Landscape, SIB, Reference Library, Governance Model
C. Business Metamodel, Architecture Capability, Architecture Landscape, SIB, Reference Library, Governance Log
D. Architecture Metamodel, Architecture Capability, Architecture Landscape, SIB, Reference Library, Governance Log

Answer: D

NEW QUESTION 2
Which one of the following statements about TOGAF Building Blocks is NOT true?

A. They should not be reused in other enterprise architecture projects
B. They should have stable, published interfaces that allow other building block to interoperate with them
C. They are packages of functionality intended to meet the business needs across the organization
D. They have defined boundaries

Answer: A

NEW QUESTION 3
Which of the following is the architecture domain that describes the logical software and hardware capabilities?

A. Application Architecture
B. Business Architecture
C. Data Architecture
D. Technology Architecture

Answer: D

NEW QUESTION 4
Which phase of the ADM ensures that implementation projects conform to the defined architecture?

A. Requirements Management
B. Phase D
C. Phase F
D. Phase G
E. Phase H

Answer: D

NEW QUESTION 5
Which of the following best describes the purpose of a business scenario?

A. To define and plan an enterprise architecture transformation based on Capability-Based Planning
B. To develop a set of general rules and guidelines for the architecture being developed
C. To develop a set of security guidelines for the architecture being developed
D. To help identify and understand the business requirements that an architecture must address
E. To identify and mitigate the risks when implementing an architecture project

Answer: D

NEW QUESTION 6
Complete the sentence. As the architecture evolves, the assets in the Solutions Continuum progress towards a (n)

A. Common Systems Architecture
B. Industry Specific Architecture
C. Foundation Solution
D. Organization Specific Solution
E. Technology Neutral Implementation

Answer: D

NEW QUESTION 7
Which one of the following is NOT an element of an architecture framework?

A. A common vocabulary
B. A list of recommended standards
C. A method for designing an information system in terms of building blocks
D. A set of structuresWhich can be used to develop a broad range of architectures
E. A system development lifecycle method for software engineering

Answer: E
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NEW QUESTION 8
Complete the sentence. In TOGAF, every architecture view has an associated that describes it, at least implicitly.

A. architecture building block
B. architecture model
C. architecture vision
D. requirement
E. viewpoint

Answer: E

NEW QUESTION 9
What part of the Architecture Repository holds specifications toWhich architectures must conform?

A. Standards Information Base
B. Enterprise Continuum
C. Governance Log
D. Architecture Landscape
E. Reference Library

Answer: A

NEW QUESTION 10
Which one of the following statements about the structure of the TOGAF 9 document is true?

A. Part I describes the TOGAF approach to Enterprise Architecture
B. Part II describes the definitions of terms used and the changes between versions of TOGAF
C. Part III describes requirements management and is considered to be the core of TOGAF
D. Part IV describes the ADM: a collection of guidelines and techniques used in TOGAF 9

Answer: A

NEW QUESTION 10
According to the TOGAF Document Categorization Model, Which category is for resources NOT referenced by content within the other categories?

A. TOGAF Core
B. TOGAF Extension
C. TOGAF Mandatory
D. TOGAF Recommended
E. TOGAF Supporting

Answer: E

NEW QUESTION 12
In the Solutions Continuum, Which of the following is the correct order of Solutions from most-specific to most-generic?

A. Common Systems, Foundation, Industry, Organization-Specific
B. Organization-Specific, Industry, Foundation, Common Systems
C. Foundation, Common Systems, Industry, Organization-Specific
D. Industry, Foundation, Common Systems, Organization-Specific
E. Organization-Specific, Industry, Common Systems, Foundation

Answer: E

NEW QUESTION 13
Which phase of the ADM is an on-going activity that is visited throughout a TOGAF architecture project?

A. Architecture Change Management
B. Implementation governance
C. Migration planning
D. Preliminary Phase
E. Requirements Management

Answer: E

NEW QUESTION 14
Complete the sentence. In TOGAF, legacy systems and processes that are going to be used again in the future are considered

A. Architecture Building Blocks
B. Components
C. Patterns
D. Re-usable Building Blocks
E. Solution Building Blocks

Answer: D
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NEW QUESTION 16
According to TOGAF, where should architecture governance artifacts be stored?

A. In the Integrated Information Infrastructure Reference Model
B. In the Standards Information Base
C. In the Foundation Architecture
D. In the Architecture Repository

Answer: D

NEW QUESTION 21
Which of the following reasons best describes why the ADM numbering scheme for versioning output is an example and not mandatory?

A. To show the evolution of deliverables
B. To permit adaptation as required
C. To enable use with the Architecture Content Framework
D. To support change management

Answer: B

NEW QUESTION 25
Which one of the following best describes the implications of TOGAF being a generic framework?

A. The organization must utilize an architecture tool in order to tailor the templates for use
B. It must be adapted to satisfy organization specific requirements
C. It can be utilized by most enterprises without further customization
D. It can only be used for enterprise level architecture projects
E. It should only be employed under the supervision of highly trained consultants

Answer: B

NEW QUESTION 26
Complete the sentence. In a gap analysis, a building block that appears in the Target Architecture but does not appear in the Baseline Architecture indicates

A. nonconformant solution building blocks
B. an error has occurred and the architecture must be re-evaluated
C. requirements have not been properly documented
D. functionality that should be eliminated
E. a new function that must be built or procured

Answer: E

NEW QUESTION 27
According to the TOGAF Document Categorization Model, Which category describes a technique that is referenced by processes categorized as TOGAF Core and
TOGAF Mandated?

A. TOGAF Guidelines and Techniques
B. TOGAF Recommended
C. TOGAF Supporting
D. TOGAF Extension

Answer: B

NEW QUESTION 28
In Which phase of the TOGAF ADM are Gap Analysis results from earlier phases consolidated?

A. Phase D
B. Phase E
C. Phase F
D. Phase G
E. Phase H

Answer: B

NEW QUESTION 30
Which one of the following is NOT an objective for Phase C, Data Architecture?

A. Defining an architecture that can be understood by the stakeholders
B. Defining an architecture that is complete and consistent
C. Defining an architecture that is stable
D. Defining data entities that are normalized to minimize update anomalies
E. Defining data entities relevant to the enterprise

Answer: D
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NEW QUESTION 31
Which section of the TOGAF document describes the processes, skills and roles to establish and operate an architecture function within an enterprise?

A. Part II: Architecture Development Method
B. Part III: ADM Guidelines and Techniques
C. Part IV: Architecture Content Framework
D. Part VI: TOGAF Reference Models
E. Part VII: Architecture Capability Framework

Answer: E

NEW QUESTION 33
Which of the following best describes capability based planning?

A. A business planning technique that focuses on business outcomes
B. A business planning technique that focuses on horizontal capabilities
C. A business planning technique that focuses on vertical capabilities
D. A human resource planning technique that focuses on capable architects

Answer: A

NEW QUESTION 37
Which of the following statements best describes risk management in the ADM?

A. Risk analysis is best conducted in the Architecture Vision phase so that the risk is eliminated in subsequent phases
B. Risk analysis should be carried out first in the Migration Planning phase
C. Risk analysis is outside the scope of enterprise architecture projects
D. Risk is pervasive in all enterprise architecture activity and should be managed in all phases of the ADM
E. The only risks that are within the scope of enterprise architecture are technological risks

Answer: D

NEW QUESTION 42
Which phase of the ADM is used to finalize a set of transition architectures that will support implementation?

A. Phase D
B. Phase E
C. Phase F
D. Phase G
E. Phase H

Answer: C

NEW QUESTION 46
Which one of the following is a key objective of Phase A of the TOGAF ADM?

A. To create a roadmap that describes the evolution of the architecture over time
B. To prepare a Solution Architecture for the enterprise
C. To define an IT Strategy that maps out the technology infrastructure
D. To allocate the resources needed to implement the architecture project
E. To articulate an Architecture Vision

Answer: E

NEW QUESTION 47
In TOGAF, What is the difference between an artifact and a deliverable?

A. An artifact contains one or more deliverables
B. Artifacts and deliverables are synonymous; there is no difference between them
C. Deliverables are prepared by the Project Manager, whereas artifacts are defined by the Architect
D. Deliverables are reusable, whereas artifacts are unique to a given architecture project
E. Deliverables are specified as contractual outputs from a project, whereas artifacts are not

Answer: E

NEW QUESTION 50
Complete the sentence. In the Preliminary Phase, all of the following are part of preparing the organization to undertake successful enterprise architecture, except .

A. defining architecture principles
B. defining relationships between management frameworks
C. defining the enterprise
D. evaluating the enterprise architecture maturity
E. identifying stakeholders and their concerns

Answer: E
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NEW QUESTION 53
Which section of the TOGAF document contains a structured metamodel for architectural artifacts?

A. Part II: Architecture Development Method
B. Part III: ADM Guidelines and Techniques
C. Part IV: Architecture Content Framework
D. Part VI: TOGAF Reference Models
E. Part VII: Architecture Capability Framework

Answer: C

NEW QUESTION 55
In Phases B, C, and D which is the first step in each phase?

A. Conduct formal stakeholder review
B. Create Architecture Definition Document
C. Define Roadmap components
D. Perform gap analysis
E. Select reference models, viewpoints and tools

Answer: E

NEW QUESTION 56
Complete the sentence. The Solutions Continuum represents implementations of the architectures at corresponding levels of the .

A. Architecture Capability
B. Architecture Continuum
C. Architecture Landscape
D. Architecture Metamodel
E. Architecture Repository

Answer: B

NEW QUESTION 57
TOGAF Part VII, Architecture Capability Framework recommends use of an ADM cycle for establishing an architecture practice. In this scenario which architecture
would describe the organizational structure for the architecture practice?

A. Application Architecture
B. Business Architecture
C. Data Architecture
D. Technology Architecture

Answer: B

NEW QUESTION 58
Which of the following does TOGAF provide as a set of reference materials for establishing an architecture function within an organization?

A. Architecture Content Framework
B. Technical Reference Model
C. Integrated Information Infrastructure Reference Model
D. Architecture Development Method
E. Architecture Capability Framework

Answer: E

NEW QUESTION 60
Which of the following best describes the concept of Boundaryless Information Flow?

A. Enabling the vision of an integrated information infrastructure
B. Getting information to the right people at the right time in a secure, reliable and timely manner
C. Enabling effective global communications between countries
D. Enabling the flow of information to all stakeholders
E. Providing a visual representation of information provider, consumer and brokering applications

Answer: B

NEW QUESTION 65
Which of the following does TOGAF describe as "a formal description of a system, or a detailed plan of the system at component level to guide its
implementation"?

A. Architecture
B. Artifact
C. Deliverable
D. Model
E. View

Answer: 
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A

NEW QUESTION 70
Complete the sentence. The Architecture Landscape is divided into three levels, Capability,
Segment, and .

A. Baseline
B. Solution
C. Strategic
D. Target
E. Transition

Answer: C

NEW QUESTION 72
In which phase of the ADM cycle do building blocks become implementation-specific?

A. Phase A
B. Phase B
C. Phase C
D. Phase D
E. Phase E

Answer: E

NEW QUESTION 74
A key step in validating a proposed target architecture is to consider what may have been forgotten. What technique does TOGAF recommend to address this
issue?

A. Business Transformation Readiness Assessment
B. Business Value Assessment Technique
C. Capability-Based Planning
D. Communications and Stakeholder Management
E. Gap Analysis

Answer: E

NEW QUESTION 77
Which Architecture domain is recommended to be the first architecture work undertaken in
the ADM cycle?

A. Application Architecture
B. Business Architecture
C. Data Architecture
D. Technology Architecture

Answer: B

NEW QUESTION 79
According to TOGAF, in which sequence should Application Architecture and Data Architecture be developed in Phase C?

A. Application Architecture should be developed first, then Data Architecture
B. Application Architecture should be developed concurrently with Data Architecture
C. Data Architecture should be developed first, then Application Architecture
D. Application Architecture and Data Architecture may be developed in either sequence

Answer: D

NEW QUESTION 81
Which of the following statements best describes the Requirements Management process?

A. It is used to develop requirements for Transition Architectures that deliver business value
B. It is used to dispose of, address and prioritize architecture requirements
C. It is used to establish requirements for Phase A
D. It is used to manage architecture requirements throughout the ADM cycle
E. It is used to review business requirements

Answer: D

NEW QUESTION 85
Which of the following best describes the purpose of the Gap Analysis technique?

A. To determine service levels for the architecture
B. To establish quality metrics for the architecture
C. To identify commercial building blocks to be purchased
D. To identify missing functions
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E. To validate nonfunctional requirements

Answer: D

NEW QUESTION 89
Which one of the following best describes the purpose of ADM Phase E?

A. To define the initial implementation plans
B. To define the scope, identifying stakeholders and obtaining approvals
C. To develop the Technology Architecture
D. To manage requirements throughout the ADM
E. To perform architectural oversight for the implementation

Answer: A

NEW QUESTION 93
Which of the following best describes a purpose of the Business Scenarios technique?

A. To catch errors in a project architecture early
B. To guide decision making throughout the enterprise
C. To help identify and understand requirements
D. To highlight shortfalls between the baseline and target architectures
E. To mitigate risk when implementing an architecture project

Answer: C

NEW QUESTION 94
Which one of the following best describes the Architecture Vision document?

A. An agreement between development partners and the sponsor on architecture deliverables
B. A description of how the new capability will address stakeholder concerns
C. A description of the scope and approach for completion of the architecture project
D. A set of quantitative statements outlining requirements on the implementation
E. A set of rules and guidelines to support fulfilling the mission of the organization

Answer: B

NEW QUESTION 96
Complete the sentence. TOGAF describes the role of an Architecture Contract as .

A. an agreement between development partners and sponsors on the architecture deliverables
B. a plan to ensure that architecture information is communicated to the right stakeholders at the right time
C. a set of general rules and guidelines to support development of the enterprise architecture
D. a timeline showing progression from the Baseline Architecture to the Target Architecture

Answer: A

NEW QUESTION 100
Complete the sentence. During the implementation of an architecture, if the original Architecture Definition and requirements are not suitable, a may be submitted
to initiate further architecture work.

A. Capability Assessment
B. Change Request
C. Requirements Impact Analysis
D. Statement of Architecture Work

Answer: B

NEW QUESTION 105
Complete the sentence. All of the following describe a purpose of an Architecture Compliance review, except .

A. determining the technical readiness of a project
B. ensuring the application of best practices
C. identifying business transformation risks for an architecture project
D. identifying errors in an architecture project
E. identifying where architecture standards require modification

Answer: C

NEW QUESTION 110
Complete the sentence. The Enterprise Continuum provides methods for classifying architecture artifacts as they evolve from

A. Foundation Architectures to re-usable architecture assets
B. generic architectures to Oganization-Specific Architectures
C. generic solutions to Industry Models
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D. generic architectures to reusable Solution Building Blocks
E. Solutions Architectures to Solution Building Blocks

Answer: B

NEW QUESTION 112
Complete the sentence. The Architecture Landscape is divided into three levels, Strategic, Segment and .

A. Baseline
B. Capability
C. Solution
D. Target
E. Transition

Answer: B

NEW QUESTION 113
Which of the following is defined by TOGAF as a representation of a system from the perspective of a related set of concerns?

A. Architecture Building Block
B. Capability Architecture
C. Statement of Work
D. View
E. Viewpoint

Answer: D

NEW QUESTION 118
Which of the TOGAF architecture development phases is the first phase of an architecture development cycle, defines the scope for an engagement and identifies
the stakeholders?

A. Architecture Change Management
B. Architecture Vision
C. Business Architecture
D. Preliminary Phase
E. Technology Architecture

Answer: B

NEW QUESTION 119
In which of the following ADM Phases do building blocks become implementation-specific?

A. Phase A
B. Phase B
C. Phase C
D. Phase D
E. Phase E

Answer: E

NEW QUESTION 124
Which of the following best describes the Standards Information Base?

A. A repository area holding a description of the organization specific architecture framework and method
B. A repository area holding a record of the governance activity across the enterprise
C. A repository area holding guidelines and templates used to create new architectures
D. A repository area holding processes to support governance of the Architecture Repository
E. A repository area holding specifications to which architectures must conform

Answer: E

NEW QUESTION 127
According to TOGAF, how is the Enterprise Continuum used in organizing and developing an architecture?

A. To aid communication and understanding between architects
B. To coordinate with the other management frameworks in use
C. To describe how an architecture addresses stakeholder concerns
D. To evaluate how best to develop and implement an architecture
E. To help identify and understand business requirements

Answer: A

NEW QUESTION 131
According to TOGAF, Which of the following is the reason why Business Architecture is recommended to be first architecture developed?
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A. It contains a high level description of the business strategy for the organization
B. It is the key document describing how the new architecture capability will meet the business goals
C. It provides prerequisite knowledge for undertaking work in the other architecture domains
D. It mobilizes operations to support the ongoing business architecture development

Answer: C

NEW QUESTION 134
Complete the sentence. The practice by which the enterprise architecture is managed and controlled at an enterprise level is known as .

A. Architecture governance
B. Corporate governance
C. IT governance
D. Portfolio management
E. Technology governance

Answer: A

NEW QUESTION 138
Which one of the following statements about viewpoints is correct?

A. A viewpoint is always specific to an architecture
B. A viewpoint is used to create views in Phases E and F
C. A viewpoint is used as a template to create a view
D. A viewpoint is what a stakeholder sees

Answer: C

NEW QUESTION 143
Which one of the following categories from the Document Categorization model consists of the normative parts of TOGAF which are considered central to its
usage?

A. TOGAF Core
B. TOGAF Mandated
C. TOGAF Recommended
D. TOGAF Referenced
E. TOGAF Supporting

Answer: B

NEW QUESTION 147
Which of the following statements best describes the purpose of enterprise architecture?

A. To allow an enterprise to exploit the latest trends in technology
B. To enable the CIO to take effective control of the business units across an enterprise
C. To ensure compliance in an enterprise to corporate auditing standards
D. To optimise an enterprise into an environment that is responsive to business needs
E. To provide a set of standards that all actors must adhere to within an enterprise

Answer: D

NEW QUESTION 149
Which one of the following is considered a relevant architecture resource in Phase D?

A. Generic application models relevant to the organization's industry sector
B. Generic business models relevant to the organization's industry sector
C. Generic data models relevant to the organization's industry sector
D. Generic technology models relevant to the organization's industry sector

Answer: D

NEW QUESTION 152
Which phase of the ADM establishes a set of Principles?

A. Preliminary Phase
B. Phase A
C. Phase D
D. Phase G
E. Phase H

Answer: A

NEW QUESTION 153
......
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